B. Solve Linear Equations

Distribute
Add 12x to each side

Add 10 to each side

Divide each side by 14

Simplify/Reduce

Example: Solve the equation.

—4(3x+5) =—2(5—x)

—4(Bx+5)=-2(5-x)

—12x-20=-10+2x

+12x +12x
-20=-10+14x
+10  +10

-10= 14x
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Directions: Solve the equation. Circle your final answer.

1) 24x+16=12

24 X

=t

3) 4(g-5)=16
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2) —6y+15=-9
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4) Tm+38=-5m-16

"L =5y
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B. Solve Linear Equations — Continued

Directions: Solve the equation. Circle your final answer.

5) 487+25=12j-11

3ley = -3

7 Sn+ll=-

e =M

9) —t—-2=9(-8)
L -2=%¢- 17
10 = 10t

t="
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6) 8(2n-5)=3(6n-2)
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8) Gk+7=4+12k

3= Lk

B

0.5=k]

10) 3(2x—5)—x=-7(x+3)
LX-19-X = =TIx-2]|
Ax=ID=-1Tx-12|
L X -15 = -2)

12X = -0
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